BOM MC3 Stealth

Ne HomeHknatypa Eg.nsm. Kon-Bo
1 |MogwwunHuk 608 ZZ wT 3
2 |[MopgwwunHuk LM8UU wT 12
3 |MpyxuHa D 4.8 mm, L 8 mm T 5
4 |Bont M8*200 wT 2
5 |BuHT M3*14 wT 10
6 |BuHT M3*20 wT 7
7 |BuHT M3*25 wT 7
8 |BuHT M3*60 wT 2
9 |BuHT M3*8 wT 20
10 |BuHT M3*30 wT 4
11 |BuHT M3*45 wT 4
12 |lFanka M5 wT 11
13 [lranka M8 wT 14
14 |lFanka M3 wT 20
15 [lan6a M8 wT 16
16 |Wnuneka M 5 x 260 mm wT 2
17 |Wnuneka M 5 x 170 mm wT 1
18 |Hanpasnstowasi 240 mm wT 4
19 [Hanpaensowasn 250 mm wT 2
20 |Pemenb T2.5 CM 66
21 |Moparowas wectepHsa ans pemusa T2.5 wT 2
22 |Crekno 200*200*4 . 1
23 |lWnewnd c 2-a koHTakTamu(120mm) LT, 4
24 [Wnend c 2-9 koHTaktammn(200mm) LuT. 1
25 |lWnewnd c 2-a koHTakTamu(260mm) LT, 1
26 [Wnend c 2-9 koHTaktammn(600mm) LuT. 1
27 |Wnewnd c 4-a koHTakTamu(420mm) LT, 4
28 |MP1510 - mogynb nogkntoveHusa apavisepa WA wT. 4
29 |Oxamnep ans MP1510 LT, 12
30 |MP4988 (MP8825) - gpavsep LA LuT. 4
31 [MP1511 Moaynb ynpasnexus (Mega 2560 (33)) LT, 1
32 [MP1512 CunoBon mogyrnb wT. 1
33 [OrpaHnyuTens xoga LUT. 3
34 [BeHtunatop 40*40 mm T, 1
35 [Mevatatowas ronoska J-head MKIV MKV LT, 1
36 |Mopatowasa wectepHs MK7 ons Hutn 1.75 mm wT 1
37 |Waroebin asuratens 17HS8401 WT. 4
38 |KoHTakTbl gns WA x 2 LwT. 8
39 |Habop nnacTukoBbIx geTanen (Kon-Bo 24 wr.) LuT. 1
40 |PTopononumepHas Tpybka LT, 1
41 |BbicTpopasbemMHoe coeanHeHne ans . Tpyoku T, 2
42 |Kntoy HEX 2.5*54 mm, -06pasHbii wT 1
43 [Kntoy HEX 1.5*77 mm, -06pa3sHbIi wT 1
44 |Bbnok nutaHmsa 12B 7A wT. 1




